

Sectionen 17 - Derivabilität

Übungen

Q: 10P

1. a) $f'(x) = (x^3 - 3x)^1 \stackrel{5P}{=} 3x^2 - 3 \cdot \frac{1}{x} = 3 \cdot \frac{x^3 - 1}{x} \quad \forall x \in (0, \infty) \quad 5P$

b)

x		0	1	
$x^3 - 1$	-	0	-	+
x	-	0	+	+
$f'(x)$	///	(-	+
$f(x)$	///	($\rightarrow f(1)$	2P

$f(1) = 1 - 0 = 1 \quad 2P$

$\Rightarrow f(x) \geq 1 \quad \forall x \in (0, \infty) \quad 4P$

c) $\sqrt{2} \leq \sqrt[3]{3} \stackrel{4P}{\Leftrightarrow} (\sqrt{2})^6 \leq (\sqrt[3]{3})^6 \Leftrightarrow 2^3 \leq 3^2 \Leftrightarrow 8 < 9$

\Downarrow

$1 < \sqrt{2} < \sqrt[3]{3} \quad \Rightarrow \quad f(\sqrt{2}) < f(\sqrt[3]{3}) \quad 4P$

$f \nearrow \text{ on } (0, \infty) \quad 2P$

2. a) $f'(x) = \left(\frac{x}{x+1} + \frac{x+1}{x+2} \right)' = \left(1 - \frac{1}{x+1} + 1 - \frac{1}{x+2} \right)' = -\frac{-1}{(x+1)^2} - \frac{-1}{(x+2)^2} =$

$= \frac{1}{(x+1)^2} + \frac{1}{(x+2)^2} \quad \forall x \in (-1, \infty) \quad 10P$

b) $f'(x) > 0 \quad \forall x \geq -1 \Rightarrow f \nearrow \text{ on } (-1, \infty)$

x		-1	
$f'(x)$	///	(+
$f(x)$	///	(\nearrow

3P

$\lim_{x \rightarrow -1} f(x) = \lim_{x \rightarrow -1} \frac{x}{x+1} + \frac{x+1}{x+2} = -\infty \quad 2P$

$\Rightarrow \text{Im } f = (-\infty, 2) \quad 1P$

$\lim_{x \rightarrow \infty} f(x) = \lim_{x \rightarrow \infty} \frac{x}{x+1} + \frac{x+1}{x+2} = 1 + 1 = 2 \quad 2P$

$f \nearrow \text{ on } (-1, \infty) \quad f \text{ continuous} \quad 2P$

c) $t_{x=0} : \frac{y-f(0)}{x-0} = f'(0) \quad \text{CNN} \quad 2P$

$f(0) = 0 + \frac{1}{2} = \frac{1}{2} \quad 2P$

$f'(0) = \frac{1}{1} + \frac{1}{2} = \frac{3}{2} \quad 2P$

$\Rightarrow t_{x=0} : \frac{y - \frac{1}{2}}{x} = \frac{3}{2} \quad \text{CNN} \quad 2P$

\Downarrow

$t_{x=0} : 5x - 4y + 2 = 0 \quad 2P$

3. a) $f'(x) = \left(\frac{e^x}{x-1} \right)' = \frac{(e^x)'(x-1) - e^x \cdot (x-1)'}{(x-1)^2} = \frac{e^x(x-2)}{(x-1)^2} \quad \forall x \in (1, \infty) \quad 10p$

b)

x	1	2	
x-2	-	0	+
f'(x)	↘	-	↑
f(x)	↘	↘	↗

f este ↓ pe $(1, 2]$ și ↑ pe $[2, \infty)$ 10p

c) $f(x) \geq f(2) \quad \forall x \in (1, \infty) \quad 2p$
 $f(2) = \frac{e^2}{2-1} = e^2 \quad 2p$

$\Rightarrow \frac{e^x}{x-1} \geq e^2 \quad \forall x \in (1, \infty) \quad 2p \cdot \frac{x-1}{e^2} > 0 \quad 2p$
 $\Rightarrow e^{x-2} \geq 2-1 \quad \forall x \in (1, \infty)$
 $\Rightarrow e^{x-2} - x + 1 \geq 0 \quad \forall x \in (1, \infty) \quad 2p$

Section 17 - Derivatives of Functions

Answers

1. a) $f'(x) = ((x-1)e^x + 1)' = (x-1)'e^x + (x-1)(e^x)' + 0 = xe^x \quad \forall x \in \mathbb{R} \quad 10P$

b)

x	0		
x remn	-	0	+
$f'(x)$	-		+
$f(x)$	↘ $f(0)$ ↗		

$\Rightarrow f(x) \geq f(0) \quad \forall x \in \mathbb{R} \quad 2P$
 $f(0) = 0$

$\Rightarrow f(x) \geq 0 \quad \forall x \in \mathbb{R}$

pt $x = \frac{1}{n} \Rightarrow f(\frac{1}{n}) \geq 0 \Rightarrow (\frac{1}{n} - 1)e^{\frac{1}{n}} + 1 \geq 0 \Rightarrow 1 \geq \frac{n-1}{n} e^{\frac{1}{n}} \Rightarrow$

$\Rightarrow \sqrt[n]{e} \leq \frac{n-1}{n} \quad \forall n \in \mathbb{N} \quad 2P$

c) $0 < \frac{2}{3} < \frac{3}{4} \Rightarrow f(\frac{2}{3}) < f(\frac{3}{4}) \quad 6P$
 $f \uparrow, x \in (0, \infty) \quad 2P$

2. a) $f'(x) = (1 - \frac{\ln x}{x} - \frac{1}{x})' = -\frac{(\ln x)' \cdot x - \ln x \cdot x'}{x^2} - \frac{-1}{x^2} = \frac{1 - \ln x}{x^2} + \frac{1}{x^2} = \frac{\ln x}{x^2} \quad \forall x > 0 \quad 10P$

b) $m_{t_{x_0}} = f'(x_0) \quad 2P$
 $t_{x_0} \parallel 0_x \Rightarrow f'(x_0) = 0 \Rightarrow \ln(x_0) = 0 \Rightarrow x_0 = 1 \quad 2P$
 $f(1) = 0 \Rightarrow t_{x=1} : y = 0 \quad 4P$

$\left(\begin{aligned} t_{x=1} : \frac{y - f(x)}{x - 1} &= f'(x) \\ f(1) = 0, f'(1) = 0 &\Rightarrow t_{x=1} : \frac{y}{x-1} = 0 \Rightarrow t : y = 0 \end{aligned} \right)$

c)

x	0			1		
$\ln x$	///	-	0	+		
$f'(x)$	///	-		+		
$f(x)$	///	↘ $f(1) = 0$ ↗				

$\Rightarrow f(x) \geq 0 \quad \forall x \in (0, \infty) \quad 4P$

pt $\sqrt{x} \Rightarrow f(\sqrt{x}) > 0 \Rightarrow 1 - \frac{\ln \sqrt{x}}{\sqrt{x}} - \frac{1}{\sqrt{x}} > 0 \Rightarrow$

$\Rightarrow \frac{\ln \sqrt{x}}{\sqrt{x}} < 1 - \frac{1}{\sqrt{x}} \Rightarrow$

$\Rightarrow \frac{\ln x}{2\sqrt{x}} < 1 - \frac{1}{\sqrt{x}} \quad \forall x > 0 \quad \text{cctd.} \quad 4P$

3. a) $f'(x) = (x^{2020} + 2020x + 2)' = 2020x^{2019} + 2020 = 2020(x^{2019} + 1) \quad \forall x \in \mathbb{R} \quad 10P$

b)

x	$-\infty$		-1		∞
$x^{2019} + 1$		$-$	0	$+$	
$f'(x)$		$-$		$+$	1P
$f(x)$	∞	\searrow -2017 \nearrow		∞	

$\lim_{x \rightarrow \infty} f(x) = \infty > 0 \quad 1P$

$\lim_{x \rightarrow -\infty} f(x) = +\infty > 0 \quad 1P$

$f(-1) = 1 - 2020 + 2 < 0 \quad 1P$

① $f(-1) \cdot \lim_{x \rightarrow -\infty} f(x) < 0$
 f continuous
 $f \downarrow$ on $(-\infty, 0]$ $\Rightarrow \exists! x_1 \in (-\infty, 0]$ s.t. $f(x_1) = 0 \quad 3P$

② $f(-1) \cdot \lim_{x \rightarrow \infty} f(x) < 0$
 f continuous
 $f \uparrow$ on $[0, \infty)$ $\Rightarrow \exists! x_2 \in [0, \infty)$ s.t. $f(x_2) = 0 \quad 3P$

$\Rightarrow S = \{x_1, x_2\}, \quad x_1 < -1 < x_2$

c) $f''(x) = 2020 \cdot 2019 x^{2018} \geq 0 \quad \forall x \in \mathbb{R} \xrightarrow{4P} f$ convex on $\mathbb{R} \quad 6P$

x		0	
$f''(x)$	$+$	0	$+$
$f(x)$			